pd

TIN socre (RIN = 10)

O

=8)

TIN socre (RIN

()]

=6)

TIN socre (RIN

—

=4)

TIN socre (RIN

40 60 80 100

20

40 60 80 100

20

40 60 80 100

20

40 60 80 100

20

SRR873822_RIN10, r = 0.035

20 25 3.0 35 40
transcript size (log10,bp)

SRR879615_RINS, r = -0.22

4.5

20 25 30 35 40

transcript size (log10,bp)
SRR880232_RING6, r = —-0.39

4.5

20 25 30 35 40

transcript size (log10,bp)
SRR881672_RIN4, r = -0.56

4.5

2.0

25 380 35 40
transcript size (log10,bp)

4.5

TIN socre (RIN = 10)

=8)

TIN socre (RIN

T

=6)

TIN socre (RIN

4) =

TIN socre (RIN

40 60 80 100

20

40 60 80 100

20

40 60 80 100

20

40 60 80 100

20

SRR873834_RIN10, r = 0.059

20 25 30 35 40 45

transcript size (log10,bp)
SRR879800_RINS, r = -0.16

20 25 30 35 40 45

transcript size (log10,bp)
SRR881272_RING, r = -0.35

20 25 30 35 40 45

transcript size (log10,bp)
SRR881852_RIN4, r = —-0.50

2.0

25 30 35 40 45

transcript size (log10,bp)

@

TIN socre (RIN = 10)

-n

=6)

TIN socre (RIN

=4)

TIN socre (RIN

—

=2)

TIN socre (RIN

40 60 80 100

20

40 60 80 100

20

40 60 80 100

20

40 60 80 100

20

SRR873838_RIN10, r = 0.063

20 25 30 35 40 45

transcript size (log10,bp)
SRR880070_RING, r = -0.34

20 25 30 35 40 45

transcript size (log10,bp)
SRR881451_RIN4, r = -0.51

20 25 30 35 40 45

transcript size (log10,bp)
SRR881985_RIN2, r = -0.72

25 30 35 40 45
transcriptsize (log10,bp)



